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IGI Report Number

Description
Shape and Cutting Style

Measurements

GRADING RESULTS

LG691557405
LABORATORY GROWN DIAMOND

ROUND BRILLIANT
11.10- 11.15x 6.79 mm

Carat Weight 5.13 CARATS
Color Grade E
Clarity Grade VS 1
Cut Grade IDEAL
ADDITIONAL GRADING INFORMATION

Polish EXCELLENT
Symmetry EXCELLENT
Fluorescence NONE
Inscription(s) (131 LG691557405

Comments: HEARTS & ARROWS

This Laboratory Grown Diamond was created by
Chemical Vapor Deposition (CVD) growth process.

Type lla

LG691557405

Report verification at igi.org
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LIGHT PERFORMANCE REPORT

Light Performance Grade: Exceptional

Ideal-Scope representation
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IGI Report Number LG6916567405
Description LABORATORY GROWN DIAMOND
Shape and Cutting Style ROUND BRILLIANT

Measurements 11.10- 11.16 X 6.79 MM
GRADING RESULTS
Carat Weight 5,13 CARATS
Color Grade E
Clarity Grade VS 1
Cut Grade IDEAL
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ADDITIONAL GRADING INFORMATION
Polish EXCELLENT
Symmetry EXCELLENT
Fluorescence NONE
Inscription(s) &1 LG691557405

Comments: HEARTS & ARROWS

This Laboratory Grown Diamond was created by
Chemical Vapor Deposition (CVD) growth process.
Type lla

=3 = R w
§" o288 2ggfd g
3 el § 28 §
2 L A e g g§
w =
8 H g £
- g %g.;
= 8§
a B
mig R g9%s
8§23 553 3§, 8 4283%
5% =28 88 55 £x338
a T30 o 522 ©52ubo
g§§ 253 £9%f28 sgeft E?%%gg
808 =33 33885 35522 83zLgs



